Open Access

Trigonometric Approximation by Modulus of Smoothness in $L_{p,\alpha}(X)$

Mohammed Hamad Fayyadh, Alaa Adnan Auad*

Department of Mathematics, College of Education for pure Sciences, University of Anbar, IRAQ.

*Correspondent email: alaa.adnan.auad@uoanbar.edu.iq

ArticleInfo

ABSTRACT

Received 21/02/2021

Accepted 26/05/2021

Published 20/06/2021

In this paper, we study the approximate properties of functions by means of trigonometric polynomials in weighted spaces. Relationships between modulus of smoothness of function derivatives and those of the jobs themselves are introduced. In the weighted spaces we also proved of theorems about the relationship between the derivatives of the polynomials for the best approximation and the best approximation of the functions

KEYWORDS: Chalcone; Pyrazoline; Schiff's-Base and antimicrobial.

في هذا البحث تم دراسة خواص التقريب للدوال بواسطة متعددات الحدود المثلثية في فضاء الوزن ودراسة العلاقة بين مقياس النعومة لمشتقات الدوال مع الدوال نفسها وكذلك تم برهنة العلاقة بين درجة افضل تقريب للدوال مع درجة افضل تقربب لمشتقات متعددات الحدود.

INTRODUCTION

Let $X = [0, 2\pi]$ be a closed interval, for $\alpha \in$ W, let $\alpha: X \to [0, \infty)$ be locally integrable and almost everywhere positive where W is weighted space. $L_{n,\alpha}(X)$ be the space of all unbounded functions, $1 \le p < \infty$ with norm of this function defined by:

$$\|f\|_{p,\alpha} = \left(\int_X |f(x).\alpha(x)|^p dx\right)^{\frac{1}{p}} < \infty.$$

Weighted spaces, introduced by G. Lorentz in the 1950 s . see [2], [5] and [11].

Let $k \in \mathbb{Z}^+$ and $f \in L_{p,\alpha}(X)$, $x, h \in \mathbb{R}$, and we define the symmetric difference by the following:

$$\Delta_h^k f(x) = \sum_{j=0}^k (-1)^j \left(\frac{k}{j}\right) f(x + (k-j)h),$$
where $\left(\frac{k}{j}\right) = \frac{k(k-1)....(k-j+1)}{j!}$, $j > 1$.

where
$$\left(\frac{k}{j}\right) = \frac{k(k-1)....(k-j+1)}{j!}$$
, $j > 1$.

Let $1 \le p < \infty$, $f \in L_{p,\alpha}(X)$, we put

$$\psi_{\delta}^k f(x) = \frac{1}{\delta} \int_0^{\delta} \left| \Delta_h^k f(x) \right| dx.$$

If $f \in L_{p,\alpha}(X)$, then according to [4] the Hardy-Littlewood maximal function is unbounded in $L_{p,\alpha}(X)$. Then we have

$$\|\psi_{\delta}^k f\|_{p,\alpha} \le C \|f\|_{p,\alpha} < \infty$$
, where $C > 0$.

 $f \in L_{p,\alpha}(X)$, $1 \le p < \infty$, $k \in Z^+$ modulus of smoothness $\omega_k(f,\delta)_{p,\alpha}$ is define by $\omega_k(f,\delta)_{p,\alpha} = \sup_{|h| \le \delta} \|\Delta_h^k f(x)\|_{p,\alpha} , \delta > 0$ and have the following properties [3]

$$\begin{aligned} &\omega_k(f_1+f_2,\delta)_{p,\alpha} \leq \omega_k(f_1,\delta)_{p,\alpha} + \omega_k(f_2,\delta)_{p,\alpha} \\ &\text{with } &\omega_k(f,\delta)_{p,\alpha} = 0 \ . \end{aligned}$$

For $\in L_{p,\alpha}(X)$, we define the r-th derivative of fas function $f^{(r)} \in L_{p,\alpha}(X)$ satisfying

$$\|\frac{\Delta_h^k(f)}{h^k} - f^{(r)}\|_{p,\alpha} = 0 \quad (1.1)$$

Let
$$\frac{a_0}{2} + \sum_{w=1}^{\infty} \mu_w(f, x)$$
 (1.2)

where $\mu_w(f,x) = a_w(f) \cos \cos wx + b_w(f)$ sin sin wx be the Fourier series of the functions in $L_{p,\alpha}(X)$. The *n*-th partial sums, and de la Vallee-Poussin sum of the series (1) are defined, respectively, as

$$S_n(f) = \frac{a_0}{2} + \sum_{w=1}^{\infty} \mu_w(f, x) \cdot \alpha(x)$$

$$V_n(f) = \frac{1}{n} \sum_{i=1}^{w-1} S_i(f)$$

Here denote by $E_n(f)_{p,\alpha}$ (n = 0,1,...) the degree of best approximation of $f \in L_{n,\alpha}(X)$ by



trigonometric polynomials of degree less than n, i.e.,

 $E_n(f)_{p,\alpha} = \inf \inf \{ ||f - t_n||_{p,\alpha} , t_n \in H_n \},$ where H_n denotes the class of trigonometric polynomials of degree n

The problems of approximation theory in the weighted and non-weighted space have been investigated in [1] and [6] weight respectively. The approximation problems by trigonometric polynomials in different spaces have been investigated by several authors see, for example, [3],[7],[8] and [9].

In this work we study the approximation problems functions unbounded by trigonometric polynomials in the weighted space $L_{p,\alpha}(X)$. Relations between modulus of smoothness of the derivatives of a function and those of the function itself are investigated. We also prove a theorem on the relationship between derivatives of a polynomial of best approximation and the best approximation of the function in the weighted space $L_{p,\alpha}(X)$. In addition, in the weighted space $L_{n,\alpha}(X)$ relationship between modulus smoothness of the function and its de la Vallee-Poussin sums studied.

AUXILIARY RESULTS

In this section we will prove some of the auxiliary results that we needed in proving the main results. **Lemma 1 [9]:** Let $1 \le p < \infty$, $f \in L_{p,\alpha}(X)$ and k = 1,2,... then there exists a constant c > 0

depending on k, p such that

$$E_n(f)_{p,\alpha} \le c \,\omega_k \left(f, \frac{1}{n}\right)_{p,\alpha}$$

holds where n = 0, 1, 2,

Lemma 2: Let $1 \le p < \infty$, $k \in Z^+$. If $T_n \in H_n$, $n \ge 1$, then there exists a constant c > 0 depending on k, p such that

$$\|T_n^{(k)}\|_{p,\alpha} \leq c \; n^k \|T_n\|_{p,\alpha}$$

Proof: since $1 \le p < \infty$, we have in [12]

$$||S_n(f)||_{p,\alpha} \le c||f||_{p,\alpha},$$

 $||\tilde{f}||_{p,\alpha} \le c||f||_{p,\alpha}$

Now, we obtain the request result

Lemma 3: Let $1 \le p < \infty$, $k \in Z^+$. If $T_n \in H_n$, $n \ge 1$, then there exists a constant c > 0 depending on k, p such that

$$\omega_k(T_n,h)_{p,\alpha} \le c \ h^k \|T_n^{(k)}\|_{p,\alpha}$$
 , $0 < h \le \pi$ **Proof:** Since

$$\Delta_t^k T_n \left(x - \frac{k^*}{2} t \right) = \sum_{v \in Z_n} \left(2i \sin \frac{t}{2} v \right)^k c_v e^{ivx},$$
see [8],
$$\Delta_t^{k^*} T_n^{(k-k^*)} \left(x - \frac{k^*}{2} t \right)$$

$$= \sum_{v \in Z_n} \left(2i \sin \frac{t}{2} v \right)^{k^*} (iv)^{k-k^*} c_v e^{ivx}$$

with

$$Z_n = \{\pm 1, \pm 2, \pm 3, ...\}, k^* \equiv integer part of k, putting$$

$$\varphi(z) = \left(2i\sin\frac{t}{2}v\right)^{k^*} (iz)^{k-k^*}, g(z)$$
$$= \left(\frac{2}{z}\sin\frac{t}{2}v\right)^{k-k^*},$$

$$-n \le z \le n$$
, $g(0) = t^{k-k^*}$

We get

$$\Delta_t^{k^*} T_n^{(k-k^*)} \left(x - \frac{k^*}{2} t \right) = \sum_{v \in Z_n} \varphi(v) c_v e^{ivx},$$

$$\Delta_t^k T_n \left(x - \frac{k^*}{2} t \right)$$

$$=\sum_{v\in Z_n} \quad \varphi(v)g(v)c_ve^{ivx}$$

Taking into account that

$$g(z) = \sum_{r=-\infty}^{\infty} d_r e^{\frac{ir\pi z}{n}}$$

Uniformly in [-n, n], with $d_0 > 0$, $(-1)^{r+1}d_r \ge 0$, $d_{-r} = d_r(r = 1, 2, ...)$ we have $\Delta_t^k T_n(x) = \sum_{r=-\infty}^{\infty} d_r \Delta_t^{k^*} T_n^{(k-k^*)} \left(x + \frac{r\pi}{n} + \frac{k-k^*}{2}t\right)$

Consequently, we get $\|\frac{1}{\delta}\int_0^{\delta} |\Delta_t^k T_n(.)| dt\|_{p,\alpha} =$

$$\left\| \frac{1}{\delta} \int_{0}^{\delta} \left| \sum_{r=-\infty}^{\infty} d_{r} \Delta_{t}^{[k]} T_{n}^{(k-k^{*})} \left(\cdot + \frac{r\pi}{n} + \frac{k-k^{*}}{2} t \right) \right| dt \right\|_{p,\alpha}$$

$$\leq \sum_{r=-\infty}^{\infty} \left| d_{r} \right| \left\| \frac{1}{\delta} \int_{0}^{\delta} \left| \Delta_{t}^{k^{*}} T_{n}^{(k-k^{*})} \left(\cdot + \frac{r\pi}{n} + \frac{k-k^{*}}{2} t \right) \right| dt \right\|_{p,\alpha}$$

Since,
$$\Delta_t^{k^*} T_n^{(k-k^*)}(x) = \int_0^t T_n^{(k)}(x+t) dt$$

We find,

$$\omega_{k}(T_{n},h)_{p,\alpha}$$

$$\leq \sum_{r=-\infty}^{\infty} |d_{r}| \|\frac{1}{\delta} \int_{0}^{\delta} \left| \Delta_{t}^{k^{*}} T_{n}^{(k-k^{*})} \left(. + \frac{r\pi}{n} \right) \right|^{\frac{t_{n}(.+h)-t_{n}(.)}{h}} \|_{p,\alpha} \leq 2^{\frac{p}{2}} (3.2)$$

$$\leq \sum_{r=-\infty}^{\infty} |d_{r}| \|\frac{1}{\delta} \int_{0}^{\delta} \left| \Delta_{t}^{k^{*}} T_{n}^{(k-k^{*})} \left(. + \frac{r\pi}{n} \right) \right|^{\frac{t_{n}(.+h)-t_{n}(.)}{h}} \|_{p,\alpha} \leq 2^{\frac{p}{2}} (3.2)$$

$$+ \frac{k-k^{*}}{2} t \|dt\|_{p,\alpha}$$

$$\leq h^{k^{*}} \sup_{|\delta| \leq h} \sum_{r=-\infty}^{\infty} |d_{r}| \|\frac{1}{\delta} \int_{0}^{\delta} \left| T_{n}^{(k)} \left(. + \frac{r\pi}{n} \right) \right|^{\frac{t_{n}(.+h)-t_{n}(.)}{h}} \|_{p,\alpha}$$

$$= \sum_{i=0}^{r} \left(\frac{r}{i} \right) (-1)^{i} \left(\frac{r}{2} \right)$$

$$= \sum_{j=r}^{\infty} \sum_{i=0}^{r} \left(\frac{r}{i} \right) (-1)^{i} \left(\frac{r}{2} \right)$$

$$\leq h^{k^{*}} \sup_{|\delta| \leq h} \sum_{r=-\infty}^{\infty} |d_{r}| \|\frac{1}{\delta} \int_{0}^{\delta} \left| T_{n}^{(k)} \left(. + \frac{r\pi}{n} \right) \right|^{\frac{t_{n}(.+h)-t_{n}(.)}{h}}$$

$$= \sum_{i=0}^{r} \left(\frac{r}{i} \right) (-1)^{i} t$$

$$= \sum_{j=r}^{\infty} \sum_{i=0}^{r} \left(\frac{r}{i} \right) (-1)^{i} t$$

$$= \sum_{j=r+1}^{\infty} \sum_{i=0}^{\infty} \left(\frac{r}{i} \right) (-1)^{i} t$$

$$= \sum_{j=0}^{\infty} \sum_{i=0}^{\infty} \left(\frac{r}{i} \right) (-1)^{i} t$$

$$= \sum_{j=0}^{\infty} \sum_{i=0}^{\infty} \left(\frac{r}{i} \right) (-1$$

$$\leq ch^{k^*} \sup_{|\delta| \leq h} \sum_{r = -\infty}^{\infty} |d_r| \|\frac{1}{\delta} \int_0^{\delta} \left| T_n^{(k)} \left(\cdot + \frac{r\pi}{n} \right) \right|^{\frac{\sqrt{\epsilon}}{n}} \leq h \leq \frac{2\sqrt{\epsilon}}{n} \text{ we find that}$$

$$+ \frac{k - k^*}{2} t dt \|_{p,\alpha}$$

$$\leq \sum_{m=2}^{\infty} \left(\frac{h^{m-1}}{m!} \right)^p$$

$$ch^{k^*} sup_{|\delta| \le h} \sum_{r=-\infty}^{\infty} |d_r| \left\| \frac{1}{\frac{k-k^*}{2}\delta} \int_{\cdot+\frac{r\pi}{n}}^{\cdot+\frac{r\pi}{n} + \frac{k-k}{2}\delta} |T_n^{(k)}(u)| du \right\|_{p,\alpha}$$

On the other hand

 $\sum_{r=-\infty}^{\infty} |d_r| < 2g(0) = 2t^{k-k^*}$, $0 < t \le \pi$ And for $0 < t < \delta < h \le \pi$,we have

$$\sum_{r=-\infty}^{\infty} |d_r| < 2g(0) = 2h^{k-k^*}$$

Therefore, $\omega_k(T_n, h)_{p,\alpha} \le c h^k ||T_n^{(k)}||_{p,\alpha}$

MAIN RESULTS

In this section we will prove some of the main

Theorem 1: Let $1 \le p < \infty$, $f \in L_{p,\alpha}(X)$ and T_n be a trigonometric polynomial of degree nsatisfying the following conditions:

$$||f - t_n||_{p,\alpha} = o\left(\frac{1}{n}\right)$$
 and $||g - t_n'||_{p,\alpha} = o\left(\frac{1}{n}\right)$, $n \to \infty$, then we obtain $f' = g$.

Proof: Take > 0. We choose a natural number $n_0 = n_0(\epsilon)$ such that for $n \ge n_0$

$$|| f - t_n ||_{p,\alpha} \le \epsilon \cdot \left(\frac{1}{n}\right) , || f' - t'_n ||_{p,\alpha}$$

$$\leq \epsilon$$
 (3.1)

Taking account of (3.1) for h satisfying the condition $\frac{\sqrt{\epsilon}}{n} \le h \le \frac{1}{n}$ we obtain $\|\frac{f(.+h)-f(.)}{h} - \frac{t_n(.+h)-t_n(.)}{h}\|_{p,\alpha} \le 2^{\frac{p}{2}}$ (3.2)

Thus, we have

$$\Delta_{h}^{r} t_{n}(x) = \sum_{i=0}^{r} \left(\frac{r}{i}\right) (-1)^{i} t_{n} \left(x + \left(\frac{r}{2} - i\right)h\right)$$

$$= \sum_{j=r}^{\infty} \sum_{i=0}^{r} \left(\frac{r}{i}\right) (-1)^{i} \left(\frac{r}{2} - i\right)^{j} \frac{h^{j}}{j!} t_{n}^{(j)}(x)$$

$$= h^{r} t_{n}^{(r)}(x)$$

$$+ \sum_{j=r+1}^{\infty} \eta(r, j)^{j-r} t_{n}^{(j)}(x), \qquad (3.3)$$

$$\text{where } \frac{-r}{-r} < \eta(r, j) < \frac{r}{-} \text{ and } \eta(r, j) = 0 \text{ if } j - r$$

where $\frac{-r}{2} < \eta(r,j) < \frac{r}{2}$ and $\eta(r,j) = 0$ if j-r is odd. Then using (3.3) and lemma 2 for $\frac{\sqrt{\epsilon}}{n} \le h \le \frac{2\sqrt{\epsilon}}{n}$ we find that

$$\|\frac{t_{n}(. + h) - t_{n}(.)}{h} - t'_{n}(.)\|_{p,\alpha} \le \sum_{m=2}^{\infty} \left(\frac{h^{m-1}}{m!}\right)^{p} \|t_{n}^{(m)}\|_{p,\alpha}$$

$$\leq \sum_{m=2}^{\infty} (hn)^{(m-1)p} ||t_n||_{p,\alpha}$$

$$\leq 4 \left(\frac{\epsilon}{1 - 2^p \epsilon^{\frac{p}{2}}}\right) ||t_n||_{p,\alpha}$$

$$\leq c\epsilon^p ||t_n||_{p,\alpha} \tag{3.4}$$

Using (3.2), (3.4) and (3.1) for $\frac{\sqrt{\epsilon}}{n} \le h \le \frac{2\sqrt{\epsilon}}{n}$ we reach

$$\|\frac{f(.+h) - f(.)}{h} - f'\|_{p,\alpha}$$

$$\leq \|\frac{f(.+h) - f(.)}{h}$$

$$-\frac{t_n(.+h) - t_n(.)}{h}\|_{p,\alpha}$$

$$+ \|\frac{t_n(.+h) - t_n(.)}{h}$$

$$-t'_n(.)\|_{p,\alpha} + \|t'_n - f'\|_{p,\alpha}$$

$$\leq c \left(\epsilon^{\frac{p}{2}} + \epsilon^p \|f\|_{p,\alpha} + \epsilon^p\right)$$

Then the proof of theorem is complete.

Theorem 2: Let $1 \le p < \infty$. Then for a given $f \in L_{p,\alpha}(X)$ and integer k, r satisfying k > rwe have



$$\omega_{k-r} \left(f^{(r)}, t \right)_{p,\alpha} \le c \left\{ \int_0^t \frac{\omega_k(f, u)_{p,\alpha}^s}{u^{sr+1}} du \right\}^{\frac{1}{s}},$$
where $c > 0$.

Proof: The function $\omega_m(F,t)_{p,\alpha}$ non-decreasing and according to reference [10] the following inequality holds

 $\omega_k(F,2t)_{p,\alpha} \le c\omega_k(F,2t)_{p,\alpha}$ (3.5) It is sufficient to prove theorem for $=2^{-n}$, then using of (3.5) we obtain

$$\left\{ \int_{0}^{2^{-n}} \frac{\omega_{k}(f, u)_{p, \alpha}^{s}}{u^{sr+1}} du \right\}^{\frac{1}{s}} \\
= \left\{ \sum_{v=n}^{\infty} 2^{vsr} \omega_{k}(f, 2^{-v})_{p, \alpha}^{s} \right\}^{\frac{1}{s}}$$

Therefore, for all n it is sufficient to prove the following inequality:

$$\omega_{k-r}(f^{(r)}, 2^{-n})_{p,\alpha} \leq \left\{ \sum_{v=n}^{\infty} 2^{vsr} \omega_k(f, 2^{-v})_{p,\alpha}^s \right\}^{\frac{1}{s}}$$
 (3.6)
For any trigonometric polynomial Q_n of degree n

For any trigonometric polynomial Q_n of degree n and $G \in L_{p,\alpha}(X)$ we obtain

$$\omega_{k} \left(G, \frac{1}{n} \right)_{p,\alpha}$$

$$\leq c \left(\|G - Q_{n}\|_{p,\alpha} + n^{-k} \|Q_{n}^{(k)}\|_{p,\alpha} \right)$$

$$(3.7)$$

Therefore, we aim to find Q_{2^n} of degree 2^n such that both $||f^{(r)} - Q_{2^n}||_{p,\alpha}$ and $2^{-n(k-r)}||Q_{2^n}^{(k-r)}||_{p,\alpha}$ are bounded by the right-hand side of inequality (3.6)

Let $t_n \in T_n$, where n = 0,1,2,... be the trigonometric polynomial of best approximation to $f \in L_{p,\alpha}(X)$.

It is known that the set of trigonometric polynomials is dense in $L_{p,\alpha}(X)$,

then we have $||f - t_{2^{\nu}}||_{p,\alpha} \to 0$ as $v \to \infty$ Let $f \in L_{p,\alpha}(X)$ has the Fourier series

$$f(x) = \frac{a_0}{2} + \sum_{w=1}^{\infty} (a_k \cos \cos wx + b_w)$$
$$\sin \sin wx) = \sum_{k=1}^{\infty} A_w(f)$$

We define trigonometric polynomial vNf as

$$vNf = \sum_{w=0}^{\infty} v\left(\frac{w}{N}\right) A_w(f)$$

where $v \in C^{\infty}[0,\infty)$, v(x) = 1 for $x \le 1$ and v(x) = 0 for $x \ge 1$

Note that trigonometric polynomial vNf has the following properties:

- 1) vNf is a trigonometric polynomial of degree smaller than N
- 2) If g is a trigonometric polynomial of degree $\frac{n}{2}$, then vNg = g
- 3) $||vNf||_{p,\alpha} \le c ||f||_{p,\alpha}$

Thus, we have

$$||vNf - f||_{p,\alpha} \le c E_{\frac{N}{2}}(f)_{p,\alpha}$$

where $E_k(f)_{p,\alpha}$ is the best approximation of $f \in L_{p,\alpha}(X)$ trigonometric polynomials of degree less than k.

We now choose the Q_n of (3.7) for $G = f^{(r)}$ to be $(v_n f)^{(r)}$

It is Cleary that $||f - v_n f||_{p,\alpha} = o(1)$ as $n \to \infty$. The following identity holds:

$$v_{2^{w}}f - v_{2^{n}}f = \sum_{m=n}^{w-1} (v_{2^{m+1}}f - v_{2^{m}}f)$$

$$\equiv \sum_{m=n}^{w-1} \lambda_{m}f$$

then

 $(v_{2^w}f)^{(r)} - (v_{2^n}f)^{(r)} = \sum_{m=n}^{w-1} (\lambda_m f)^{(r)},$ we have in weighted spaces $L_{p,\alpha}(X)$

$$c \| (v_{2^w}f)^{(r)} - (v_{2^n}f)^{(r)} \|_{p,\alpha}$$

$$\leq \|\left(\sum_{m=n}^{w-1} \{(\lambda_m f)^{(r)}\}^2\right)^{\frac{1}{2}}\|_{p,\alpha}$$

$$\leq c \| (v_{2^w} f)^{(r)} - (v_{2^n} f)^{(r)} \|_{p,\alpha}$$
 , (3.8)

we get

$$\left\| \left(\sum_{m=n}^{w-1} \left\{ (\lambda_m f)^{(r)} \right\}^2 \right)^{\frac{1}{2}} \right\|_{p,\alpha}$$

$$\leq \left(\sum_{m=n}^{w-1} \left\| (\lambda_m f)^{(r)} \right\|_{p,\alpha}^2 \right)^{\frac{1}{2}}$$
(3.9)

note that $v_n f$ is the near best approximation to f in $L_{v,\alpha}(X)$, we reach the following equivalence

$$\omega_{k} \left(f, \frac{1}{n} \right)_{p,\alpha}
= \| f - v_{n} f \|_{p,\alpha}
+ n^{-k} \| (v_{n} f)^{(k)} \|_{p,\alpha}$$
(3.10)

From (3.8), (3.10) and lemma 2 we conclude that $\|(v_{2^w}f)^{(r)} - (v_{2^n}f)^{(r)}\|_{p,\alpha}$

$$\leq c \left(\sum_{i=n}^{w-1} 2^{mrs} \| (\lambda_m f) \|_{p,\alpha}^s \right)^{\frac{1}{s}}$$

$$\leq c \left(\sum_{m=n}^{w-1} 2^{mrs} \omega_k (f, 2^{-m})_{p,\alpha}^s \right)^{\frac{1}{s}}$$

where c independent of m, k and f. Use of $Q_{2^n} = v_{2^n}f$ and (3.10) gives us

$$2^{-n(k-r)} \| ((v_{2^n}f)^{(r)})^{(k-r)} \|_{p,\alpha}$$

= $2^{-n(k-r)} \| (v_{2^n}f)^{(k)} \|_{p,\alpha}$

 $\leq 2^{nr} \, \omega_k(f,2^{-n})_{p,\alpha} \leq$

$$c\left(\sum_{m=n}^{\infty} 2^{mrs}\omega_k(f, 2^{-m})_{p,\alpha}^s\right)^{\frac{1}{s}}.$$

Hence, the proof of theorem 2 is completed.

Theorem 3: Let $1 \le p < \infty$, $f \in L_{p,\alpha}(X)$, k, $r \in Z^+$, (k > r > 0) and let $t_n(f) \in T_n$ be the polynomial of best approximation to f in $L_{p,\alpha}(X)$ in order that $||t_n^{(k)}(f)||_{p,\alpha} = O(n^{k-r})$, it is necessary and sufficient that

$$E_n(f)_{p,\alpha} = O(n^{-r})$$

Proof: Suppose that

$$E_n(f)_{p,\alpha} = \|f - t_n(f)\|_{p,\alpha} = 0$$

$$(3.11)$$

Taking into account lemma 2 and the relations (3.11) we obtain

$$||t_n^{(k)}(f)||_{p,\alpha} \le c \, n^k \, ||t_n(f)||_{p,\alpha}$$

$$\le n^k \, ||f - t_n(f)||_{p,\alpha}$$

$$+ ||t_n(f)||_{p,\alpha}$$

$$< c \, n^{k-r}$$

Now we suppose that

$$||t_n^{(k)}(f)||_{p,\alpha} = O(n^{k-r})$$
 (3.12)

using lemma 1 and lemma 3 we get

$$||t_{2n}(f) - t_n(t_{2n}(f))||_{p,\alpha} \le E_n(t_{2n}(f))_{p,\alpha}$$

$$\le c \, \omega_k \left(t_{2n}, \frac{1}{n} \right)_{p,\alpha}$$

$$\le c \, n^{-k} ||t_{2n}^{(k)}|| \le c \, n^{-k} (n^{k-r})$$

$$\le c \, n^{-r} . \tag{3.13}$$

On the other hand, since $T_n(T_{2n}(f))$ is a polynomial of order n, then the following inequality holds:

$$\begin{array}{l}
0 \leq E_n(f)_{p,\alpha} - E_{2n}(f)_{p,\alpha} \\
\leq \|f - t_n(t_{2n}(f))\|_{p,\alpha} - \|f - t_{2n}(f))\|_{p,\alpha}
\end{array} (3.14)$$

$$\leq \|f - t_n(t_{2n}(f)) - (f - t_{2n}(f))\|_{p,\alpha}$$

= $\|t_{2n}(f) - t_n(t_{2n}(f))\|_{p,\alpha}$

use of (3.13) and (3.14) gives us

$$0 \le E_n(f)_{p,\alpha} - E_{2n}(f)_{p,\alpha} \le c \, n^{-r}$$
 (3.15)

Since $E_n(f)_{p,\alpha} \to 0$ from the inequality (3.15) we conclude that $\sum_{w=n_0}^{\infty} \{E_{2^w}(f)_{p,\alpha} - E_{2^{w+1}}(f)_{p,\alpha}\} \leq \sum_{w=n_0}^{\infty} 2^{-wr}$

Then from the last inequality we obtain

$$E_{2^{n_0}}(f)_{p,\alpha} \le c \ 2^{-n_0 r} \tag{3.16}$$

it is clear that inequality (3.16) is equivalent to $E_n(f)_{p,\alpha} \le c n^{-r}$

Hence, the proof of theorem 3 is complete.

Theorem 4: Let $1 \le p < \infty$, $f \in L_{p,\alpha}(X)$, $k \in \mathbb{Z}^+$, then

$$i) c\omega_{k} \left(f, \frac{1}{n} \right)_{p,\alpha}$$

$$\leq \left(n^{-k} \| V_{n}^{(k)}(f) \|_{p,\alpha} \right)$$

$$+ \| f - V_{n}(f) \|_{p,\alpha} \right)$$

$$\leq c\omega_{k} \left(f, \frac{1}{n} \right)_{p,\alpha}$$

$$ii) c\omega_{k} \left(f, \frac{1}{n} \right)_{p,\alpha}$$

$$\leq \left(n^{-k} \| S_{n}^{(k)}(f) \|_{p,\alpha} \right)$$

$$+ \| f - S_{n}(f) \|_{p,\alpha} \right)$$

$$\leq c\omega_{k} \left(f, \frac{1}{n} \right)_{p,\alpha}$$

Proof: In view of lemma 3 the inequality

$$\omega_k \left(T_n, \frac{1}{n} \right)_{p,\alpha}$$

$$\leq c \, n^{-k} \| T_n^{(k)} \|_{p,\alpha} , \qquad (3.17)$$

holds, where T_n is a trigonometric polynomial of order n. Using the properties of smoothness $\omega_k(f, ...)_{p,\alpha}$ and (3.17), we reach

$$\omega_{k}\left(f, \frac{1}{n}\right)_{p,\alpha} \leq \left(\omega_{k}\left(f - T_{n}, \frac{1}{n}\right)_{p,\alpha} + \omega_{k}\left(T_{n}, \frac{1}{n}\right)_{p,\alpha}\right)$$

$$\leq c \left(\|f - T_n\|_{p,\alpha} + n^{-k} \|T_n^{(k)}\|_{p,\alpha} \right)$$
 (3.18)

now, there exists a constant c > 0 depending only on r, p such that





$$n^{-k} \|T_n^{(k)}\|_{p,\alpha} \le \omega_k \left(T_n, \frac{1}{n}\right)_{p,\alpha}$$
(3.19)
by virtue of lemma 1
$$E_n(f)_{p,\alpha} \le c \ \omega_k \left(f, \frac{1}{n}\right)_{p,\alpha}$$
(3.20)
now, we get
$$\|f - V_n(f)\|_{p,\alpha} \le c \ E_n(f)_{p,\alpha} ,$$
(3.21)
Thus inequalities (3.19), (3.21) implies that
$$n^{-k} \|V_n^{(k)}(f)\|_{p,\alpha} + \|f - V_n(f)\|_{p,\alpha}$$

$$n^{-k} \|V_n^{(k)}(f)\|_{p,\alpha} + \|f - V_n(f)\|_{p,\alpha}$$

$$\leq c \left(\omega_k \left(V_n, \frac{1}{n}\right)_{p,\alpha} + E_n(f)_{p,\alpha}\right)$$

$$\leq c \left(\omega_k \left(f, \frac{1}{n}\right)_{p,\alpha} + \omega_k \left(f - V_n, \frac{1}{n}\right)_{p,\alpha} + E_n(f)_{p,\alpha}\right)$$

$$\leq c \omega_k \left(f, \frac{1}{n}\right)_{p,\alpha}$$

The last inequality and (3.18) imply that (i)There exists a constant c such that

 $||f - S_n(f)||_{p,\alpha} \le c E_n(f)_{p,\alpha}$ (3.22)

If the inequality (3.22) and the scheme of proof of the estimation (i) is used we obtain the estimation (ii)

Therefore, Theorem 4 is proved.

REFERENCES

- [1] Arambašić, L., & Rajić, R. (2014). Operator version of the best approximation problem in Hilbert C ^*-modules. *Journal of Mathematical Analysis and Applications*, 413(1), 311-320.https://doi.org/10.1016/j.jmaa.2013.11.058
- [2] Diaz, J. B., & McLaughlin, H. W. (1972). On simultaneous chebyshev approximation with additive weight function, *Journal of Approximation Theory*, 6(1), 68 – 71. https://doi.org/10.1016/0021-9045(72)90082-2
- [3] AL-Saidy, S. K., AL-Jawari, N. J., & Zaboon, A. H. (2020). Best Multiplier Approximation of Unbounded Periodic Functions in L_ (p,Ø _n)(B), B=[0, 2π] Using Discrete Linear Positive Operators. Baghdad Science Journal, 17(3), 882-888. https://doi.org/10.21123/bsj.2020.17.3.0882
- [4] Chung, H. M., Hunt, R. A., & Kurtz, D. S. (1982). The Hardy-Littlewood maximal function on L (p, q) spaces with weights. *Indiana University Mathematics Journal*, 31(1), 109-120.https://doi.org/10.1512/iumj.1982.31.31012
- [5] Hunt, R., Muckenhoupt, B., & Wheeden, R. (1973). Weighted norm inequalities for the conjugate function and Hilbert transform. *Transactions of the American Mathematical Society*, 176, 227-251.

- [6] https://doi.org/10.1090/S0002-9947-1973-0312139-8
- [7] Stechkin, S. B. (1967). Best approximation of linear operators. *Mathematical Notes of the Academy of Sciences of the USSR*, 1(2), 91-99.https://doi.org/10.1007/BF01268056
- [8] Goncharov, V. L. (2000). The theory of best approximation of functions. *Journal of Approximation Theory*, 106(1), 2-57. https://doi.org/10.1006/jath.2000.3476
- [9] Jafarov, S. Z. (2013). Approximation of conjugate functions by trigonometric polynomials in weighted Orlicz spaces, *Journal of Mathematical Inequalities*, 7(2), 271 281. https://doi.org/10.7153/jmi-07-25
- [10] Draganov, B. R., & Parvanov, P. E. (2011). On estimating the rate of best trigonometric approximation by a modulus of smoothness. *Acta Mathematica Hungarica*, 131(4), 360-379.https://doi.org/10.1007/s10474-011-0072-8
- [11] Trigub, R. M., & Belinsky, E. S. (2004). Fourier Analysis and Approximation of Functions, Kluwer Academic Publishers. <u>https://doi.org/10.1007/978-1-4020-2876-2</u>
- [12] Timan, A. F. (1963). Theory of Approximation of Functions of a Real Variable, Pergaman-Press. https://doi.org/10.1016/B978-0-08-009929-3.50008-7
- [13] Zygmund, A. (1968). Trigonometric Series, Cambridge Univ. Press, Cambridge.